Justifications for Proofs
IF.. THEN Justification
Parallel (||) Lines have the same slope

Perpendicular

(L)

Lines intersect to form a 90° angle

Parallelogram

Quadrilateral w/ BOTH pairs
of opposite sides parallel

Quadrilateral w/ four right

Rectangle
angles
—0 Quadrilateral w/ four right
Square + + angles AND all sides equal
| lengths
Rhombus Quadrilateral w/ all sides
equal lengths
. Quadrilateral w/ only ONE pair
Trapezoid @ of parallel sides
- Point that splits a segment into 2 =
Midpoint P 9
segments
: Cuts an object (angle or segment
Bisect J (ang 9 )
intfo 2 = parts
Isosceles Triangle w/ TWO sides
Triangle of equal length
Equilateral All sides are =

Ieg #1 :I %potenuse

leg #2

(leg#1)? + (leg#2)? = (hypotenus e)?




IF.. ﬂ THEN Justification
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msz1+msz2+ms3=180°
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